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IECSRGBuS8 triangle lightnesst*

t* Yoc=Yw - nc=100,

t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, Y,/ 100<Y<=Y, o)
t*\(3,6)=18,t* ,(18)=50,t*\y,(90)=137

IECSRGBu8

tristimulus value difference

YoemYw  nc=100,
t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, o)
log(dY) = (1/1,6) log[1,6¢,/50)] + [1~(1/1,6)] logY)

*,=50, dY,=3,20Q dY,/Y,=0, 1777

V=90

log (AY/Y) IECSRGBU8
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, Y,/ 100<Y<=Y, o)

log(dY/Y)= log[1,6(f,/50)] — (1/1,6) log{/Y,)
= (1/1,6) log[1,6¢,/50)] - (1/1,6) logy)

IECSRGBu8
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
t*1EcsreBus=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, o)
log(Y/dY)= - log[1,6(/,/50)] + (1/1,6) log{/Y,)
- (1/1,6) log[1,6(,/50)] + (1/1,6)Jog¥)
!

t*,=50, d¥,=3,20 Y,/dY,=5

!
application
range
v =18
Yn=36  Yuw=90

IECsRGBuUS relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

t1EcsreBug=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, )
1 (3,6)=18 t* ,(18)=50,t*y(90)=137

log[t*/t* ]=0, m,=0,62

log(AY/AY,) IECSRGBUS relative
AYIAY tristimulus value difference
i YocmYw - nc=100,
t*1EcsreBua=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/1,6)] log¥/Y,,)

log [(AY/Y) 1 AYIY),] IECSRGBUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
t1EcsreBua=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, )
logl(dYMN)/(AY/Y),] = - (1/1,6) logl/Y,)

S
10g[(dY/YY(dY/Y),]=0, m,=—0,22

t,=50, dY,=3,20 dY,/Y,=0,1777

#..
4

1
1
1
1Y,=18
YR=3.67 Ya=90 T

log [(Y/AY) 1 (YIAY),] IECSRGBUS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t1EcsreBua=50 (Y/Yy) 1 6(Y,=18, Y, /100<Y<=Y, o)
logI(Y/dY)/(Y/dY),] = (1/1,6) logiY/Y,)

application
range

Y,=18
VNE3601 Y =90 T,

IECSRGBUuS8 triangle lightnessT*

T+ Yoc=L*w - nc=100

T*IEcsraBug=50 (Y/Y) M 6(Y,=18, Y, /100<Y<=Y,0)
T4\ (3,6)=18,T* ,(18)=50,T* (90)=137

1Y,=18
MN=3,671 Yy =00 T
BEWBI-1A
logAY) IECSRGBu8
AY tristimulus value difference

Yoc=L*w - nc=100,

T* lEcsraBua=50 (YY) M 6(Y,=18, Y, /100<Y<=Y, o)
log(dY) = (1/1,6) log[1,6¢,/50)] + [1~(1/1,6)] logY)

application
range

1,518
V=90

BEW81-3A

log AY/Y) IECSRGBu8
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100
T* |EcsreBua=50 (YY) M 6(Y,=18, Y, /100<Y<=Y,o)
log(dY/Y)= log[1,6(Y,/50)] - (1/1,6) log{/Y,)
= (1/1,6) log[1,6¢,/50)] - (1/1,6) logl)
>

N
~

BEW81-5A

log (Y/AY) IECSRGBu8

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T* |EcsreBua=50 (YY) M 6(Y,=18, Y, /100<Y<=Y, o)
log(Y/dY)= — log[1,6(/,/50)] + (1/1,6) log¥/Y,)
- (1/1,6) log[1,6Y,,/50)] + (1/1,6)4ogY)
o
T*,=50, dY,=3.20 Y,/dY,=5

application
range

Y,=18
MN=3.600 Yy =90 T

BEW81-7A

BEWS81-7N

TUB-test chart BEW8; IECSRGBu8 & T* for Y/Y,, Yac=(Y&L*) WwrcBne
Absolute and relatlve Ilghtness sensmwty and contfsH0,00, 1y=1/1,6

THT* IECSRGBuS relative triangle lightnessT*/T*

THT*, Yoc=L*w - nc=100,

T*Ecsrapus=50 (Y/Y) ' O(Y,=18, Y, /100<Y<=Y, )
T4\ (3,6)=18.T* (18)=50,T* (90)=137

L* =49, T* =50 —
application
range

1Y,=18
Yw=90

BEWS81-2A

log(AY/AY,) IECSRGBUS relative

tristimulus value difference
INUNG YorL* vy - n=100,
T* Ecsrapus=50 (YY) M O(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/1,6)] loglY/Y,)

P
=5
log[(dY)(dY),]=0, m,= 0,32 -7
1
1Y,=18
Yn=3.6  Yw=90

application
range

BEW81-4A
log [(AY/Y) | (AYIY),] IECSRGBUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T* Ecsrapus=50 (YY) M O(Y,=18, Y, /100<Y<=Y, )
logl(dYM)(AY/Y),] = - (1/1,6) logl/Y,)

log[(dY/YY(dY/Y),]=0, m,=-0,62
T*,=50, dY,=3,20 d¥,/Y,;=0,1777 |
1v,=18
Yn=3.6  Yw=90

BEW81-6A
log [(Y/AY) I (YIAY),] IECSRGBUS relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
T* Ecsrapus=50 (Y/Y) 1 O(Y,=18, Y, /100<Y<=Y, )
log[(Y/dY)/(Y/dY),] = (1/1,6) logiY/Y,,)

log[(Y/dY)(Y/dY),]=0, m=0,62

application
- range

1y,=18
NNE3601 Ya =90 T

.

BEW81-8A
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